
Refresher Course Math 1050 and 1060 Practice Problems Set 2 Fall 2007

x+5
c.)

x—9

2.) Write in simplest form:

5,n—25
c.)

2in —25

(fl” —9) (nt5)

—x+3
e.)

—3+x

EU

b.)
+ 2xy +

(y)L

d)
x+3

—x--3

1.) Find the domain of each of the following:

a.) 3x4—8x+12

All rcJ nnibi5
b.) Jx+6

w
a.)

2w3
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3.) Perform the indicated operation:

2x2+x—6 x3—3x2+2x
a.)

x+4x—5 4x2—6x

Cx- )—t

b
4x2+12x —x3—3x2

2x+1 4x2—1

2k 3
c.) +
k2—5k+4 k2—1

Zk
— -1-

-

-

-

4?

3
(k —i)(kH)

d
— 5

y2—1 y2+2y+1

Zlc(k+i) -

(y-t)(yU )(y)

—2 4pe.) +
p+l p2—1

4y(y±)- 5(y-)
i ) Cy -1) (Y Ut(y-i)

-

-

) (p-i)
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x3

4.) Simplify the following complex fraction:
2——

x

7-x -3

2x2(x_l)2 -5(x-1)
5.) Simplify

x—1

5’! —

IL(x-i)

6.) 2x3=2x2+12x t9’

7 L,
2

- C C-])(?)
c-9e

(‘z I

17ii?7

X -x
3x2 +6x

7.) =1x+2
x+2

3LL

1KE±LO

5cJ
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2x(x+1)—
(x+1)2

10.) X =0

5

11.)x4<5x3—6x2

Ci, )

8)
2x2+5x—33

2x—1

-

I) (x 3)

(i)

9.)‘13x+4=x—2

To 4-lnc

x-i) C? x-i)

I /7 £

i/I

11

Cl-f IAq j
a ifl,

o L7()

$0
/

K 0, 7 ye 11)2 fe

X=7

P

Cec k

?-=- C)

Z< (x)

cu)

0

- (1)T
//

Cxu) (2(,))J

dI) 0

I
/ Vc qK€ (Y? d0471 !

50/ J+
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